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I nternational Fi nanci& *lVianagement"

Time: 3hrs. ..;,,'' 
*r - 

J-,-l*;.Marks:100
Note: Answer ony'Fiin1uL questions. -"%l

I a. what is intemational financial "nrdfldhdEnr? .". - (03 Marks)
b. Explain ' i) Cros *t" iiiOi+efu"t iii) Indireffit. (07Marks)
c. A foreign exchange dealer ha$;$,f''minion that he is free to iitiest in any currency. He can

trade at the following prices.
Sport rate, Mexican new pbsos/$ :)W.,,T9$

6 months forward rate f6r.M'exican new pesos ; NP l6l$
6 months Mexican,,intcr€st rate : 18%
6 months US interest rate -" .* 

: 5%
Is it possible to !&r or CIA? If yes explain th'd Steps assuming l$ million dollar to invest. .

(10 Marks)

Fourth Semester MBA Degree ExanrT\ation, Novembe r 2020

The Jan I 't, 20 I 6 exchange rate was C$ I .6/$ ; "" sp ,q:4

'!l'

a. nriefl;,,$iffuin ADR and GDR. .,**l * ,;;+ (03 Marks)
b. What"Sr'ei,the goals of MNC? (07 Marks)
c. Form products is the Canadian affrliate of USA ma_nq&Efuiing company,(ts balance sheet in

000ofCanadian$forJanl't,20i6isshownbelow: 
*' 

_, ;.
mr-.-. r-, rst anrt - -l. -------- . d6t /t6 "'""-".

Determine. accounting expqpflrdrfor Jan 2017 using Current rate method, if the exchange rate
of Ded*3 {", 2016 is C$ t.5l$." ' (10 Marks)

a.,*t..{hat is Euro credit?. ,j" r .-,1.;',' (03 Marks)
b".i.*.Explain the impo4ance ofBOP. (07 Marks)
c.' 'tsriefly explain firteign exchange participants. (10 Marks)
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4 a. What is intpn{fitiional.capital budgffig?
b. In India 1f,'s{8/79Rs. In Europe l'f;'= l.2ll.3€. In India what is 1€ = Rs.

Assets Amt (GSf{ f.iabilities .s Mat (C$)
Cash l,ospQs Current liabi&i*idh" 60.000
A/c receivhble 2"20"000 Long tennffih? [,60,000
Inventsaibs ,J3;Ao,ooo Capital stock' 6,20,000
Net olint and equioment r. ,00,000

8,40,000 8.40.000

(03 Marks)
(07 Marks)

c. Pepsi company would like to hddge its CAN $ 40 million payable to 'A' limited a Canadian
aluminum producer which is due in 90 days suppose it faces the following exchange and
interest rates.

. Spotrate ,,; '''' -$0.7307[2perCAN$
Forward rate (90 days)' - 0.7320/41per CAN$
CAN$ 90 days Idtbrest rate (annualized) - 4.71% - 4.640A

US$90 day ratbsthiinualized) - 5.50% - 5.35%
Which headiag alternative would you recommend? The first rate is the borrowing rates and
second rate is lendingrate..

l" -,.,;:

":i

i!r,,,rr.;tt:"

I of2
(10 Marks)
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What is SWIFT Mechanism? #u\. " (03 Marks)

Explain in detail of structure of Foreign Exchangq"Mirket. (07 Marks)

nriifly explain risk and rewards in Intematig,.nal FiYiance' ..,*., (10 Marks)

...-u"ee,_,- - ".-
#"-= 't' ' "

What are the accounting components of ffiFt "*',.'i' (03 Marks)

Briefly explain the concept of intemafioaal fisher effect and inte$est rate parity. (07 Marks)

A foreign exchange a*t"" t us ,r.rryffi ir" following informati#Sor a particular bank.

Value of CAD in US dollar:-S"m* ';
Value ofNZ$ in USD: $0.30.'Y'+ff-

Value of CAD in NZ$ = IJZ$,3.O9
On the basis of above indhgption, is triangular arb.(ffi8&ossible? If yes calculate the profit

from strategy if you tr@1.S0,00,000 to use. \F (10 Marks)
s:i

-a::

What is the conqgpt 6?Option? .ffi. (03 Marks)

A US MNC is planning Jo iastall a manufactgtns$nit to produc.e-:r5[10u00 unrts ot

automobile 
"o-por"ni 

i{;ffii. seuing up or ffid'"tu.ing pra"t4[F'blves 50 million
caqh outlay. The plant isfficted to have-use ib of 5 years witffiS.tO million salvage

value MN-C will fo[o#the SLM method ffiqJfeciation. To puppbrt running of businessvalue MN-C will follo#'fr5 SLM method ddgJieciation. To s_uppbrt running of business

working capital of,5 niillion is invested.,ffig,r{ll cost of pro$#ion is 20lunit. Fixed cosl

estimated 2 milliqifueiling price is 70lun:ik*MNC is subje(G-=d-to 40Yo tax in India and rate

of retum i, 1%':F is forecasted q# ,will deprecia[' @ 1Y pu and initial exchange

rate Rs.48/$. at"nite the MNC regardi.f ihe financial x[ability of the proposal. (20 Marks)
: .,& fit\qfu

What is the con@t t

lL= 1.4ll.6AUD lr-ll = 111.6$#9 T* - 
;'.

lf = 78/80,ilNR. rn

lCAD:56ffi6y INR? 'f (07Marks)
'---J

the concept of arbitr,ry&and list out types..$ieflrn:iixi$fuiin the conceot of arbitr@and list out Wpes. ..{ . (10 Marks)
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